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the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Boolklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet

Thiz Test Booklet contains 120 items (questions) in two Parts : PART—A and PART—B, Each
item in PART—B is r-—tuud both in Hindi English. Each item comprises four responscs
Pnswers]. You will select the response which you want to mark on the Answer Sheet. In case you
eel thal there is more than one correct response, mark the response which vou consider the
best, in any case, choose ONLY ONE response for each item.

You have to mark all vour responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet,

All itemms carry equal marks.

Before you proceed to mark in the Answer Sheet the response Lo various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheel and the examination
has concluded, vou should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

. Bheets for rough work are appended in the Test Booklet at the end,

Pana for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

[} There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
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lii} 1f a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
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({iii] If a question is left blank, ie., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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PART—A

1. Which one of the following is the d. Which one of the following is the
synonym of the word written in capital synonym of the word written in capital
Ietters  in the sentence, "The letters in the sentence, “She is an
FUNDAMENTAL character of an IMMACULATE soul whoss presence
individual defines his entire life™? makes all the difference™?

fa} Productive fa) Spotless

(b}  Essential
(&) Excited

fo]  Successful

e} Extraordinary
{d} Effective

fd) Unparalleled

2. Which one of the following is the
synonym of the word writlen in capital

letters in the sentence, “She has the 4. Which one of the following iz the
habit of using HACKNEYED and antonym of the word written in capital
redundant examples from her past letters in the sentence, “There iz a great
even while dealing with the future deal of ENMITY"?
generation™?

fa)  Armity

fa) Indifferent

fb) Imaginative fb} Cooperation

fe] Clichéd fc) Dispute

fd] Impressive {df Hostility



S. Which one of the [following is the
antonym of the word written in capital
letters in the sentence, "She was
RELUCTANT to sell her car"?

(a) Anxious
fb) Happy
ic} Eager

{d) Unwilling

6. Which one of the [(ollowing is the
antonym of the word written in capilal
letters in the sentence, "l cannot comply
with the QUEER regulations of your
land"?

fa) Strange
{b) Nimble
{¢) Everyday

{d) Customary

7. Which onc of the following parts of
the sentence, “As you know that the
ignorant are easily duped”, has an
error?

(c) As you know
(b) that the ignorant
fc} are easily duped

{d) No crror

8. Which one of the following parts of the

senience, “After a lot of ergument |
brought him forward to my point of
view”, has an error?

fa) Afier a lot of argument
M) 1 brought him forwerd
(¢} 0 my point of view

{d) No crror

9. Which one of the following parts of the

sentence, ‘Dont ask him how he is
becausc if he starts talking about his
health you'll never get off from him’, has
an error?

fa) Don't ask him how he 13 because

() if he starts talking about his health
you'll never

(c) get off from hlin

{d) No crror

10. Which one of the following woids can be

used as a substitute for the phiase,
“A nursery where children of working
parents are cared for while their parents
arc at work"?

fa) Sculler
() Créche
{c) Dormitory

{d) Refectory

[P.T.O.



11. Which one of the following words can be

used as a substitute for the phrase,
“That which cannot be taken by force”?

ez} Impossible
(b} Improbable

fo) Impeccable

fd Impregnable

12. Which one of the following is the

appropriate  question tag in  the
sentence, “Take a =eat, _ *p

fal shall you?

B can’t vou?

fo] won't you?

fd] would you?

13. Which one of the following is the

appropriate  gquestion tag in  the
sentence, "Anyone can make mistakes,
p—ta

fal isn’t it?

(b} shall they?

fe} can’t they?

() is it?

14. Which one of the following phrasal verbs

may be used in the blank space in the
sentence, “He is fond of art and seems
__ [suited) to be an artist™?

fa) fit out
fb) bring out
o) cut out

{d] suit out

15. Which one of the following phrasal verbs

may be used in the blank space in the
sentence, “We were happy in the
beginning, but now all the troubles have
[appeared)"?

{a} cropped up
{b) come about
o) come out

(d) rushed in

16. Which one of the following phrasal verbs

may be used in the blank apace in the
sentence, “Mo one knows how it all
{happened)™?

fal came across
(bl came about
fe) eame into

(d} came forward



17. Which one of the following phrasal verbs

may be used in the blank space in the
(finish] this
work before [ leave tomorrow morning™?

sentence, “I have io

fa}  clear up

(b} clean up

(e} fimish up

fdl do away with

18. Which one of the following prepositions

may be used in the blank space in the
sentence, “He lived a hand mouth
existence, surviving on just a few rupees

B weck™?

fal  in

b to

el for

[d} nside

19. Which one of the following can be used as

a substitute for the words written in
capital letters in the sentence, “There
s no meaning to CRY OVER THE
SPILT MILK since the matter is owver™?

fal Mo use of worryving about

B Mo use of spilling now

fe} Mo use of celebration

fd] No use of asking for

. Which one of the following can be used

as a substitute for the words written
in capital letters in the sentence,
"Berving the sufferers is true YEOMAN'S
SERVICE™?

fajl A risky job

fb]  An amusing job

fe)  An excellent work

{d} An unwanted job

|P.T. O,



PART—B

21. Who is the author of the work, The
Evolution of Prouincial Finance in British
ndiz @ A Study in the Provincial
Decentralization of Imperial Finance?

fa) Dadabhai Naoroji
(b Dr. B. R. Ambedkar
fe) M. N. Roy

{d} Jawaharlal Mehru

22. In the context of international affairs,
which one of the following is correct

about Lord Curzon?
(@) He advocated a pacifist policy.

B He wanted to establish a British
sphere of influence ocver the Persian
Gulf and Seistan.

fej He wanted England and Russia to
become friends againat China,

fd] He wanted to lead a flag-waving
mission to the USA.

23. Which one of the following is correct
about Assam in Botish India?

fa) It was a part of the North-East
Frontier Agency.

{b) 1t was made a province in 1BAS.

fe) It was separated from Bengal in
1874, and along with Sylhet
made inte a Chief Commissioner's
province.

fdl It was a Princely State ruled by
Ahom kings.

24, What were the peasant associations set
up it Kerala in the 1930s called?

)
B
fc)
e

Kizan Sabha
Kirti Kisan
Karshaka Sangam

Kisan Morcha

25. Why did the Congress declare 9th May to
be ‘Ethiopia Day'?

(@)

fb)

fc)

fd)

26. Who

Because the Ethiopians declared
their support for the cause of
Indian independence from British
Tule.

Because Ethiopia became
independent from Britain on that
day.

Because Ethiopia was attacked by
Italy in early 1936 and their
resistance was considered freedom
struggle.

Because Ethiopian leaders
dencunced Mussolini.

set up the Bharat Stree

Mahamandal which first met in
Allahabad in 191079

fe)
(b
fc)
fcl)

Annie Besant
Meherbai Tata
Saraladevi Chaudhurani

Tarabai Shinde
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27. Which one of the following is not a

feature of the Non-Cooperation
Movement?

fal Economic boveott was intense and
successiul,

fbf The middle class participated in
very large numbers in  the
movement.

fef It was marked by uneven

geographical spread and regional
variations.

fd} Along with Non-Cooperation, other
Gandhian social reform movements
like the anti-liguor campaign
achieved some sUCCEES.

2B. Which one of the following publications

waz started by Khan Abdul Ghalfar
Khan in 1932872

fa)  Palchhun

i)  Khuda Khidmatgar
(e} Young India

(d] Indin Awakens

29. Who among the following was the

founder of the Arva Mahila Samaj in the
early 1880s7?

fa) Swami Dayananda Saraswati
fb) Swami Vivekananda

fe}  Pandita Ramabai

[d] Ramabal Ranade

30. Who ameng the following is considered

to be the first Indian to go to jail in
performance of his duty as a journalist?

fe} Mahatma Gandhi

) Rabindranath Tagore
fe] Lokmanyva Tilak

fd} Surendranath Banerjee

31. Which of the following was/were the

reason/reasons for the lack of sconomic
development in India in the 19th
century?

1. Officially the British Government
was committed to a policy of
laissez-faire, but it was actually
a palicy of discriminatory inter-
vention.

2. Eurcpean  entrepreneurs  had
connections to banks and agency
houses, while Indians had to rely
on kin, family and caste men.

<. When plantations were transferred
to individual capitalist ownership,
native investors were deliberately
ignored.

Select the correct answer using the code
given below,

fa 1 only
B 2 and 3 only
fc) 1 and 3 only

fd} 1,2 and 3

32. Which social reformer's autobiography,

entitled Looking Back, describes his
experiences in setting up schools for
women in Poona in the 189053

faj Dhondo Keshav Karve

B K. T. Telang

fol  Jyvotirao Phule

(d) Dr. B. R. Ambedkar
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33. Who was the firat Director General of the

Archaeological Survey of India?
[zl John Marshall

fal  Alexander Cunningham

fel Mortimer Wheeler

{d} Francis Buchanan

34. Which of the following works was not

contributed by the famous social
reformer Begum Rokeya?

fa) Ardhangi
fb) Griha
{c)  Maother India

f{d) Sultana’'s Dream

35. Which one of the following is not a

characteristic of the Mughal chronicles?

(o} They ©present a continuous
chronological record of events.

&) They were a repository of factual
information about the Mughals.

fe  They allow us to understand how
mmpenal deologies were  created
and disseminated.

{d}] They contain brief biographies of
the suthors of the chronicles,

10

36. Which one of the following statements

regarding an Overseas Citizen of India
(OCT) is ot correct?

fa) An QCI is a citizen of another
country.

b} An OCI possesses multiple-entry
long-term visa for visiting India.

fe/ An OCI is at par with NRls in all
matters,

fd} An 0QOCI is not entitled to the
fundamental right to equality of
opportunity in public employment.

37. Which one of the following iz not a

feature of the Aadhaar (Targeted
Delivery of Financial and other

Subsidies, Benefits and Services) Act,
201672

fal Only citizens of India are entitled
for enmolment under this Act.

fb} Both demographic and hiometric
information 158 to he submitted for
enrolment.

fcl  The Unique ldentification Autharity
of India is responsible for
enrolment and authenbication
urnder this Al

fd} It is the responsibility of the Unique
Identification Authority to ensure
the security of identity of
individuals.

38. Forced labour or beggar is a violation of

which one of the following Articles of the
Constitutionn of India?

fal Article 16
) Article 17
fg} Article 19
(d) Article 23
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39. Which one of the following statements
regarding the Constituent Assembly of
India is not correct?

fexf

)

fct

The Constituent Assembly was
compased of members who had
been  elected  indirectly by the
Members of the  Provincial
Legislative Assembly,

The Constituent Assembly held its
first sitting on 9th December, 1946,

The seats in each province were
distributed among the three main
communities—Mushim, Sikh and
Ceneral, in proportion to their
respective populations,

The method of selection in the case
of representatives of Indian States
was to be determined by the
Governor-General of India.

40. Which one of the following is mnot a
constitutional body?

(al
(b)
it
fed]

The Election Commission of India
The Finance Commigsion
The Official Languapges Commission

The National Commission for
Women

41. Which one of the following is mot a
feature of monopolistic competition?

faf

(b}

fe}

(dj

Large number of buyers and sellers
in the market

Differentiated products constitute
the market

Produet in the
homogeneous

market is

Selling costs are used for sale
promaotion

43. Social coat ia higher than economic cost

because
fa) =mociety is bigger than economy
(b} society includes polity, while

fiei
fd)

economy does not inclade it
cost borne by bystanders is positive

soctety includes both consumers
and producers

43. Ceasoncoalat® 100 pertonisa type of

fiaf
)
(e}
id)

carbon tax
carbon subaidy
carbon incemtive for technology

carbon incentive for selling carbon
permit

44. Core inflation iz different from headline
inflation because the former

fa)

(B)

fict

fed)

ignores articles of volatile nature in
the price index

considers artleles of volatile nature
m the price index

is not based on commodity price
index
congiders only core items of

consumption in the price index

45. Who among the following is the author of
the book, Choice of Techniques?

fa)
®)

fef
fdj

N K. Ben

K. N. Raj

V. K. R. V. Rao
Sukhamoy Chakravarty



39, wE i #egm B F wey d Pl g @
FH-H1 T e 5 A B

fa) TEHR W W) I EEE G e oy
EIRICEREP IR At v
w0 @ Faifm v )

b wiEEE wa fr T dew o femem,
1946 = srgifam & wh o))

fe) 7w WA W HE AR TE wYEE—
Hited, T afm e #, T -
A el & s A 918 o o)

(d) arA & e i & ams o am
# faftr v % wedh-sa g fuiie
=t =t o

40, TafaiEa 8 3 wR-w s aidwfe e adf
X

fa) oA 1 Frafen s
() fam smEm

fe] TR ST

(d) T mfgen @AM

41. Prefefas # 3 St w5 R owfien
T =t AR BT

frul wﬁﬂ:ﬂmﬁﬁmﬂ

TEET Ee Rt LT b [RAFTH 5 "/

b Tadifem Feomel @ Aww w=m R
fe} WA H e e e 2

(d) Toma wada % fou fsh @m0 wEm
foeam = &

13

. i T f e B oamnfas wvm sl

B B | ge o ue R T

fa) WEE, AdeEE | TR

(b) wurE § uey-soaen wiEfom B, e
a7 4w R

fc) =il (amerdedd) s = Ft o wrm

O — L T
HeAlrs= 801 6

() wE H IniR AR e, A
wfesfem i &

43. FES W F 100 T =W F I Frefafem §

W s Wi aa B

) -

b e B

fc) ORI F o WA e

(d) wriE e ) Rk % fe wEa e

44, g (%n) ek, o9 (feae) Eehl |

firs %, =oif o= gEeiila

fa) Fma gEwE § wfin mes 6 =g
e = A R

(b) T GEEE W siEE ey i aesi
= wimfem = 7 &

(c) Tom v gasis w anaria =41 g

fcd) Ha gEwE 4 o3wdm f FEa geEl
Frgt Fit @ A

45, T # TR TEW ME IFATR O W S

&7

fa) Te Fo TA

B} e THe T

fe) o Ho Mo e T
() GETE T

[P.T.O.



#46. Which one of the followmg bodies has 49, Panchayats [Extension to the Scheduled
formulated the ‘National Student Arcas) Act, 1996 permits  sclf-
Startup Policy’, launched by the governance of natural resources by

President of India in November 20167
fa} Gram Sabha

fa) UGC fhy Gram Panchayat

fb] NCERT jc/ the Chairman of Gram Panchayat

o) AU {d) forest dwellers of a village situated
iri the areas mentioned in the Fifth
Schedule of the Constitution of

{d} AICTE i

47. Who among the following was the 80. Which one of the following countries is

Chairman of the Working Group for not a member of WTO?

determining the methodology for

construcHon of Praducer Price Index fa} Japan

(PFI) in India (2014)? (b) China

fa} Saumitra Chaudhury fe} Iran

(6] D. V., Subbarao fdl Russia

fc}  Abhijit Sen

51. A StandUp enterprise can be established

(d) B. N. Goldar "

1. farming sector

2. manufacturing sector
48. Which one of the following schemes is g asivie scior
aimed at all-tound development of :
adolescent girls in the age group of 4. trading sector
11-18 years and making them seli-
reliant? Select the correct answer using the code
given below,
fal RGSEAG
fa) 1,2 and 4
fB} IGMSY
i 1, 3 and 4
ty Sl ¢ 1,2 and 3
fet} EMK fd) 2,3 and 4

14
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52. Who among the following were conferred

with Rajiv Gandhi Khel Ratna Award for
the vear 20167

1. Jitu Rai

2. Dipa Karmakar
3. P. V. Sindhu

4, Bakshi Malik

Select the correct answer using the code
given below.

fal 2 and 3 only
bl 2, 3 and 4 only
fe 1 and 4 only

fd) 1, 2, 3 and 4

53. ISRO in August 2016 successfully test

launched  Supersonie  Combustion
Ramjet (Scramjet) Engine. Which of the
fallowing statements with regard to
Scramjet Engine is/are correct?

l. It ecan efficiently operate both
in subsonic and supersonic
combustor modes,

2, India is the frst county to
demonstrate the flight testing of a
Scramjet Engine,

Select the correct answer using the code
given below,

fai 1 only

Bl 2 enly

o} Both 1 and 2

fd} MNeither 1 nor 2

16

54. Startup Hubs are agreed to be set up in

1. 1IlITs
2., lISERs
3. NITz

4, Central Universities

Select the correct answer using the code
given below.

fa) 1, 2 and 3
(b 1 and 4 only
fe] 3 and 4 only

(d) 1,3 and 4

65. StandUp India Programme envisages

each bank branch to ghe loan between
¥ 10 lakh to ¥ 100 lakh

1. to at least one 8C/ST borrower
2. to at least one woman bormower

3. 1o at least one rural unemploved
vouth borrower

Select the correct answer using the code
givern below,

fa) 1 only

B 2 and 3

fe) 1 and 3

fd) 1 and 2
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§6. In case of gold, revenue is recognized in
the accounting period in which the gold

15

fa)
ik
el
fel)

delivered

sold

mined

identified to be mined

87. Aa per the traditional approach, the
expense to be matched with revenue is
based on

fa)
fh)
fel
fel)

original cost
opporfunity cost
replacement cost

cash cost

58. Preliminary sxpenses are the examples of

fa) capital expenditure
(b} capital gain
fe!  deferred revenue expenditure
(d} revenue expenditure/expense
59. Depreciation of fixed assets iz an
example of
fa) deferred revenue expenditure

(b}
fiet
fied)

capital expenditure
capital gain
revenue expenditure fexpenge

60. In the context of accounting, the term
IFES stands for

(a)

L

fct
fed)

International Financial Reporting
Standards

Indian
Standards

Indian Financial Reporting System
Eeporting

Financial Reparting

Intermational Financial

aystem

18

61. From the information given below,
calculate the sum insurable :

fa)
by
fe
e}

Date of fire—01.03.2016

Turnover from 01.03.2015 to
29,02.2016—F 88,00 000

Agreed GP ratio—20%

Special  circumstances  clause
provided for the increase of
turnover by 10%

¥ 19,36,000

¥ 48.40,000

¢ 10,32,000

¥ 24,20,000

62, Income and Expenditure Account is

fai
fbi
fc)

fdi

Keal Account
Personal Account
Nominal Account

Capital Account

63. Legacies are generally

(i}

(b
(o)
fdy

capitalized and taken to Balance
Sheet

treated as income
treated as expenditure

capitalized and taken to Suspense
Account
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64, The abnormal loss on consignment is 67. Branch Account under Debtors System is
credited to

Real Account
fa) Profit and Losa Account fa ol
fb] Consignee's Account () Personal Account

fel  Consignment Account {cj Mominal Aceount

(d] Income and Expenditure Account fd} Liability Account

65. When goods are purchased for the Joint

Venture, the amount is debited to 68. The cost of electric power should be
apportioned over different departments
fa] Purchase Account accerding to

() Joint Venture Account fa) horsepower of motors

fc]  Venturer's Capital Account
{B number of light points
{d} Profit and Loss Account

fei  horsepower mulliplied by machine
hours

66. Consider the following information :
fd} machine hours
Rate of gross profit—25% on

cost of goods sold

Sales—F 20,000,000
69. Under which Schedule of the Companics

Which one of the ollowing is the Act, 2013, the formats of fnancial
amount of gross profit? statements are prescribed?
fa) Schedule 1

fa)  5,00,000
heduls 1
fb ¥ 6,255,000 (b} Bchedule

fe] ¥ 375000 fe/  Schedule I

(d) *4,00,000 {d) Schedule IV

Ea kT2 - R fee . ﬂﬂ
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T0. In the absence of any prowvision in the T3. Which one of the following is an

parinership agreement, profits and exception from the five lunctional types
losses are shared by the pariners of unionism identified by Robert Hoxie?
jaf in the ratio of the capital of fa) Business Unionism
partners
bl Predatory Unionism
(b}  equally
el in the ratio of loans given by them 9 Ravblunoeary: Leonin

to the partnership firm {d) Ewvelutionary Unionism

fd] in the ratic of the initial capital
introduced by the pariners

74. Which one of the following is the process
in which representatives of workmen

Tl. Works Committee, Safety Committee and and employer involved in an industrial
Canteen Management Committee are dispute are brought together Dbefore a
the examples of third person or group of persons who

facilitates /facilitate through mediation

fal workers ; participation in to reach a mutually satisfactory
e s agrecment?
fb} workers' education schemes : 3
fa) Arbitration

fcf workers' cooperatives

fb} Adjudication
fd} workers' suggestion schemes

fel Concihation

72. Which one of the following is not part of fd] Collective negotiation
the aims and purpeses of the ILD as per
Philadelphia Declaration?

78. Questions relating to the application or

] Labour:is not a commoaity. interpretation of a standing order

{b) Freedom of expression and of certified under the Industral
assoriation are  essential  to Employment (Standing Orders) Act,
sustained progress, 1846 may be referred to

fel Powverty anywhere  constitutes fa) Industrial Tribunal

danger to prosperity everywhere.
fb) Labour Commissioner
(d} Thewar against want requires to be

carnied on with unrelenting vigour fel  Labour Court
within each nation and is solely the
responsibility of the government. fdl Industrial Empleyment Court

22
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T6. A union whose membership may cover T9. Which one of the following is not a trade
workers employed in many industries, union security measure?
employment and crafts is known as

fal Closed shop system
fef  industrial union

i) Agency shop system
(B general union

fel  Open shop system
e} craft undon

fd} Union shop system
(dl  region-cum-industry level union

80. Which one of the following is statutory

T7. Which one of the [ollowing perspectives machinery functioning at the central
of industrial relations is based on the level?
assumption that both the parties strive
[and have opportunity] to exercise {a} Central Implementation and
economic (wages and benefits) as well as Evaluation Committee

political {control) power?
B} Central Board for Workers'

faj Pluralistic perapective Education

fb) Unitary perspective fo]  Standing Labour Committee

fc} Radical perapective : fd} Emploves's State Insurance
Corporation

fd} Trusteeship perspective

Bl. Which one of the following explains the

T8. The provision of workers" participation in ‘citizen concept' of labour?
management of industries is provided
under fal Labour is largely regarded by
the employvers as  operating
fa} Article 39A of the Constitution of organizations in industry.
India
b} Labour is affected by the law of
i) Article 43A of the Constitution of demand and supply.
India
fc) Labour has a night to be consulted
fe)  Article 42 of the Constitution of in regard to the terms and
India conditiong under which they are

supposed to work.
fed}  Article 43B of the Constitution of

India {d} Labour iz a cog in the machine.

24
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82. Whao

among the following can be
appointed as the Chairman of the
Central Advisory Board constituted by
the Central Government under the
Minimum Wages Act, 19487

jai One of the independent members of

the Board

fb] One of the employers® represen-
tatives of the Board

fe) One of the employees’ represen-
tatives of the Board

{d] A functionary of the Central
Covernment nominated by the

Government

83. Which one of the following comes under

the “State List® under the Seventh
2ehedule of the Conshtution of India?

fa) Relief of the disabled &nd
unemployable

{b] Regulation af labour and safety in
mines

e  Regulation and contraol of
manufacture, supply and
distobution of salt

fel Saocial security ard social
ingurance

84. The assumption that “man is selfish and

gell-centered, and always tries tlo
achieve his own ends even at the cast of
pthers"” explains which theory of labour
welfare?

fa)
b}
fc}
(i)

Placating theory
Police theory
Religious theory
Philanthropic theory

26

8BS,

Dr. Avkroyd’'s formula is sssociated with
determination of

fa)
fly
fc)
(e}

fadr wage
MInNimm wWage
living wage

real wage

86. "Everyone as a member of the soctety

has the right ta social security, and is
entitled to realization through national
efforts and iniernational cooperation
and in accordance with the organization
and resources of each state of economic,
gocial and cultural rights indispensable
for hia dignity and free development of
his personality.” This statement which
is emphasizing the importance of social
security has been expressed in which of
the following?

fia)

Universal Declaratiom of Human
Rights
b} Philadelphia Declaration of the TLO

fe} Report of the Firat
Commission on Labour

Natiornal

fd) Directive Principles of State Policy

of the Indian Constitution

87. For the firat time in India, medical benefit

as a non-cash benefit was provided
under

fz] the Employees' Siate Insurance
Act, 1948
fhl the Factories Act, 1948

fe) the Maternity Benefit Act, 1961

fd) the Mines Act, 1952
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88. Which one of the following is the correct

set of contingencies identified by
Williamn Beveridge in his comprehensive
social security scheme?

fa) Want, disease, ignorance, sqgualor
and idleness

fb) Want, sickness, disability, squalor

=S L R LS ot i 8 S b

fe} Want, disease, old age, squalor and
unemployment

]l Diseass, inwvalidity, old age,
unemployment and ignorance

89. Which one of the following statements is

not cortect for Atal Pension Yojana?

i@l There i1s puarantesed minimum
rnonthly pension for the
subscribers  ranging  between
¥ 1,000 and * 5,000 per month.

(8] The benefit of minimum pension
would be guaranteed by the
Government of India,

fel  Government of India co-contributes
20%% of the subscriber's contri-
bution or ® 1,000 per annum,
whichever is lower.

fd} It is applicable to all citizens of
India aged above 40 vears.

- Which one of the following is the amount

of annual premium of the Pradhan

A Buonraleranbho Diwess Walcos e ) =Ly
el SUTENSNE DiNiEa I'Ll'uﬂ.llﬂ. |_r1.u|.:|u1:r

for accident and disability cover up to
¥ 2,00,000%

fa) ® 100
(b} ¥ 50
fe) ®20
() *12

Hrections ;

The following two (2) items consist of twe
statements, Statement | and Statement I
Examine these two statements carefully and
select the correct answer using the code given
b lonwr,

Code ;

fal Both the statements are
individually true and Statement 11
is the correct explanation of
Statement |

B} Both the statements are
individually true but Statement II
is mot the correct explanation of
Statement |

e} Statementis true but Statement 11
is false

jd} Statement I is false but Statement
Il 18 true

B81. Statement 1 :

The force on Moon due to Earth is the
action, while the force on Earth due to
Moon i1s the reaction.

Statement I1

To every action, there is an equal and
opposite reaction.

2. Statement T ;

e 2 L TGN

it 18 8 CoOmmon ooservatio
place a glass of ice-water on a table at
room temperature, the m:-water will
get warmer,

Statement I :

Heat is energy that flows between a
gystemn and its environment because af
temperature difference between them.

28
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93. Which one of the fllowing materials
is not diamagnetic at Standard
Temperature and Pressure [STP)?

fed
fix}
fe
fe}

Mitrogen
Sodium chloride
Water

Iromn

94. Which one of the following gases has the
highest solubility in water?

(e}
(b}
fet
fed

Chiorine
Ammonia
Carbon dioxide

Nitrogen

95. Bleaching powder contains
fa)
(b}
(e}
id)

nitrogen
wdineg
chlorire

bromine

96. What is the
Chikungunya?

causal of

agent

fa} MNon-chlorophyvllous bacterium
(b} Hematode
fe}  Wirus

(d} Fungus

97. Bio-remediation is a technology which is
being extensively utilized in controlling

fa}
L
fej
fd}

global warming
melting of glaciers
ozone depletion

heavy metal pollutions

98. Beauty of some historical monuments ia
greatly affected by the growth of certain

living organisms. These living organisms
belong to which one of the following

Eroups?
fa)
fio)
fel
fd}

Amphibious plants
Lichens
Bacteria

Viruges

99, Which one of the following has the
characteristics of both an animal as well
a8 a plant?

fa)
fb)
fc)
e}

Fern

Moss
Earthworm
Euglena

100. In order to save the stored focd grains
from insects, farmers usually mix with
them

fa}
L
fe}
(i)

MHeem leaves
Mango leaves
Pecpal leaves

Orange leaves
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101. CD-ROM i3 a

faf
(b)
{c
()

secondary memary
magnetic memory
memory register

semiconductor memory

102. WAP stands for

fe)
(b
fe)
fed}

Wireless Addition Protocal
Wireleas Automation Protocol
Wireless Adaption Protocol

Wireless Application Protocol

103. Bluctooth technology allows

fa}

(b
fel

fel}

sending of filea within the range of
10 km

sending an e-mail

wirelegs connection betwesn
various devices/equipments over
short distances

downloading of movies from
Internet

104. “Which one among the following is not a
basic function of a computer?

feaf
{b)
fc)
(4]

Accept and process data
Store data
Secan text

Accept input

106. Which one of the following is hardware?
fa} Power point
b} Control umit
(¢ Printer drver
fd] Operating system

106. Two vehicles which are 100 km apart
dre running towards each other in a
straight line. In how much time will they
meet each other provided they follow a
uniform speed of 45 km per hour and
BO km per hour respectively?

fal 60 minutes
bl 55 minutes
fc) 4B minutes
fd} 45 minutes

107. The price of an article is increased by
20%. Further, there is a tax of 5% on
the mcrement. If the article costs
¥ 1,331 to the customer, then what was
the price of the article before the
increase in price?

fa) ¥ 1,000
b} 1,064
fc) ¥ 1,100
[ T 1,200

108. A cricket bat is purchased at 20%
discount. If the selling price of the bat is
¥ 1,000, what was the original price of
the bat?

fa) 1,100
B} 1,200
fc) ¥1,225
fd} ¥ 1,250



101. CD-ROM & 87
fa) Feht A
(b TfEw i
fc} AR T
id) wdfehra A

102. WaP e fir v e 7
ja) ETrEE TR ST
(b AREE RS TR
fo) ALY UESA Ui
(dj TR U AR

103. =gy wedTE vEY ) 2

fa) 10 km =t Fm A wES H W

(b} E-TE Y W

(o) BT g w oT@ g fafm g6 e

T w29 99 ol

(d) T2 ¥ =eiaE SEAEIE HA

104. Feafafaa § # FR-T & S w9 o0 w5y

B

fa) s (Fan) v s ol S e

) 2 WR wE
(o) I T T
fdj ST EERR T

105, frsfeftn @ @ w&-m ok sredE &7
(a) T TR
(b} =
fe) T g
fdj st fimn

106. = 916, Tk oS 1 5t 100 km &, Uh-pm
=it ¥ v =it T § S 8w us g
o TEeA § FRen wEe e, ok A s
45 km W W SR A0 km ¥ @ H
THHOH =6 ¥ =l T B

fa} &0 T2
(b 55 e
fc) 48 fir
) 45 =

107. Tut =g 1 5W 20% 53 74 ¥ THE s,
M # g T T 5% F e &) IR 1w ¥
fmamAiamm F 133 e Miemdgiad
B W S
jaj ¥ 1,000
{b) ¥ 1,054
el ¥ 1,100
id) 1,200

108. % firkz &z 200 fewrEe w ale w2 ol

¥z % fam-men ¢ 1,000 B, B R W
WRIWE §Fg w9t

() ® 1,100

f) ¥ 1,200

fe) 1,225

fd) * 1,250

|- P T



109. Which one of the following diagrams is

most appropriate to the statement,
“Tea-producing places are either in
Assam or in Bengal™?

fe) D

(d) D

110. Supposze, the remainder obtained while

dividing x by 61 iz 2. What iz the
remainder obtained while dividing x7
by 617
fa) 2
fb) 4
fel S

fdj 6

111. What is the maximal maimber of spherical

balls of radius 1 em each that can be
placed inside a cubical box of height
10 cm?
fa) 25
B 125
fel 250

fdl 1000

112. In a city, 80% population =at rice and

90% of the rice eaters are non-
vegetarians. Then what percent of the
population are vegetarian rice eaters?

(a) 72
i) 8
fcf 9
(d) 10

113. Twa vehicles A and B travel with uwniform

speed 30 km per hour and 60 km per
hour respectively in the same direction.
They start at the same time and from
the same place for a distance of 120 km.
The faster wehicle B reaches the
destmation and travels baclk with the
game speed. Assume that the loss of
time to change the direction is
negligible, If x is the distance travelled
by the slower vehicle A before the two
vehicles cross each other, then x is

fa) 70 km
(B) 75 km
fz) B0 km
{dl S0 km

114. The price of a bottle of cold drink is ® 10.

One bottle of cold drink can also be
bought by returning 10 empty bottles.
A person has ¥ 1,000 and 19 empty
botiles. Assuming that the person can
consume any number of bottles he
buys, what will be the number of empty
bottles he possesses at the end if he
buys maximum number of bottles of
cald drink and consumes all?

faj 0O
by 1
fe} 2
fd) 3



100, "9 FerEeE = A arem 4 R Ay ane 10
T 4 & o FeidiEd ® 8 -3 A
Halit 39w BY

" G
m | D
fc) q p
@ D
110, 5= #fm fe x ® 61 @ fawfm +3 =

TIEA 2 W R B x° 61 § v
Wi 9 FEE W B

fa) 2
(b) 4
fe) 5

(dl &

111. 10 em 398 F v iy 9099 F o= = .
wea el ) e 19 @ arfaeman wEm
w1 w0l = e e 6 e 1 em 17

fa) 25
(b} 125
fcl 250

fd) 1000

112, el e 4 s0% WEE WEw @R E oain

aEd "@H gl § W o0% wmed #) =Em
= S SRR AT = Wi e b
faj 72
b 8
fe} 9
fd} 10

113. 3 T84 A ¥R B uF ® fgm @ w99 30 km

g 921 2 60 km IR 57 F AR 9
HEE R A U W O UE B e d
120 kem ¥ g0t & fom Fe §1 o= =
el W6 B TEY 9 qgad ¢ 30 39 95 A
R wien T B Ow Eim B R amer
i aEh o R ol e R ol S
AT G UH-G8L F IR HA F UEE M e
TE A AT TR A 0 o R, W xw
uH ¥

fa} 7O km
(b} 75 km
fel  BOD km
{d}] 90 km

114, 55 &% it v 9 ) $oa 70 B

10 =t =Ee w el i see A
UF Wae @iEl W URd £ TE o9 o O
7 1,000 30 10 e Heed &) we s
ar ==hw Tl o F= 7 3 Sied =1 39
1 oHn & Fard 3w e @), & o IR
L I e O o B B 2 e e e
=is g0 s 4 st dhe wie s =9
T TN 9 9 36 I 946 @0

fal
(&
(e}
(cl)

W K o= D

[B.T. O



115. If the radius of the new spherical 118. Consider the following figure :
container ia double the radius of the old

spherical container, then the ratio of the >—|—-)
volume of the new container and the

valume of the ald container is

Olbyect Mirror (Plane)

fe 2:1

Which one of the following is the image
i 41 of the obhject in the mirror?
e} 8.1 fa)

—

fd) 2n:1

B

116. A container iz filled with 300 litres of fe) >—|—’

hydrogen gas. The first day it loses

100 litres of hydrogen gas and everyday

it loses one-third of the volume it lost in id} (—I—c

the previous day. Then the container

fa) loses entire hydrogen ges in 3 days 119. Three persons A, Band Crun a business
) together and their shares are 17%, 37%
fb) loses entire hydrogen gas in and 46% respectively, Any profit they
10 days earn is distributed according to the
, proportion of their shares, If the
fc) 1““;‘:] :11:1}9 Hires, ‘of: hydrogen gui difference of the profits of B and A on
. ¥ a given date is ¥ 1,000, what is the
fd) possesses at least 150 litres of profit of £ on that day?

hydrogen gas on 100th day ja) ¥ 2,300

b} 2,350

e} ¥ 2450

117. The area of the smallest circle which

containg a square of area 4 cm® inside
is

{d ¥ 4600

120. The eircumference of a circle is 21 cm,

fal =cm Then the area of a sguare inscribed in
the circle ia

(b} 2mcm? e gﬂmi
B 1cm?

fej 3m cm 2 (e}
fel 2n cm?

{d} 4ncm? (d) 2 em?

c a6




118. 372 vr 7 e = 6 B o e
fema f fren & S 2, oW e &
A i g T & e = sEeE §

fal 2:1
b 41
fe} 8:1
fd) 2m: 1

116. W e 4 300 e wegem fm o wfl B
w4y fig gad @ 100 T eeden fa ) e
Bt B e T e e e e
H HE % uE-fed wEe e R
oI B Bw fafh g

fa) TE= 3 TA A w6 eEgraa w o dm
by TEmm 10 B9 & ol wegem fm w3

fe) TEEm 10 TR 150 T TSR e oW

am

i) f2= 8 1008 f=m wu-d-wm 150 o=
Frar fa )

117, H59 Bi2 37 99 1 &a%e 7 am, Frek s
4 cm? SAER w1 0w T Wi 7

fz) mem?

B 2x em*
{c} 3x em®

d) 4mem?

arT

118, i &y mu rEnfas w faam Sifa

>—[_) E
g i ()

wiv & wey w0 whotee 1= 0 @ Peeam 37

© A

119. #F =ftF 4, B 3 C s 99 e =

wrEn wemd ¥, fed T fiem e
17%, 37% 3 46% B Wi & s mn
1 Wl T 39 fewd % om % agEm ol
Fm R g e e A B am A F
vt W T P 1,000 B, W o3\ W oow
wm e 27
fa) * 2,300
(b) ¥ 2,350
(e} ® 2,450
(d) ® 4,600

120. TF T4 #F U Znom B 99 % admr sifen

(=) F1 = £9wa B
fa) gcm2
) 1em?
i) e
fd) 2 em?

[E.T. O.
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